
SAP ABAP table OIJ_EL_TICKET_I {Universal ticket item table}

OIJ_EL_TICKET_I

MANDT [CLNT (3)]

TICKET_KEY [CHAR (20)]

TICKET_ITEM [NUMC (6)]

TICKET_VERSION [NUMC (3)]

TICKET_PURPOSE [CHAR (1)]

SITYP [CHAR (2)]

MVSCENARIO [NUMC (2)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

LOCID [CHAR (10)]

VEHICLE [CHAR (10)]

MEINS [UNIT (3)]

MATNR [CHAR (18)]

MTTEH [UNIT (3)]

TSTEH [UNIT (3)]

EVENTTYPE [CHAR (16)]

SHTYPE [CHAR (4)]

VSTEL [CHAR (4)]

CHARG_O [CHAR (10)]

WERKS_O [CHAR (4)]

LGORT_O [CHAR (4)]

CHARG_D [CHAR (10)]

WERKS_D [CHAR (4)]

LGORT_D [CHAR (4)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 OIJ_EL_TICKET_I-MATNR = MARA-MATNR 

0..N

0..N

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

 OIJ_EL_TICKET_I-CHARG_D = MCH1-CHARG 

0..N

0..N

 OIJ_EL_TICKET_I-CHARG_O = MCH1-CHARG 0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 OIJ_EL_TICKET_I-VEHICLE = OIGV-VEHICLE 

0..N

0..N

OIJLOC

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 OIJ_EL_TICKET_I-LOCID = OIJLOC-LOCID 

0..N

0..N

OIJNOMH

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

 OIJ_EL_TICKET_I-NOMTK = OIJNOMH-NOMTK 

0..N

0..N

OIJNOMI

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

 OIJ_EL_TICKET_I-NOMIT = OIJNOMI-NOMIT 
0..N

0..N

OIJ_EL_EVT_TYPE

MANDT [CLNT (3)]

EVENTTYPE [CHAR (16)]

 OIJ_EL_TICKET_I-EVENTTYPE = OIJ_EL_EVT_TYPE-EVENTTYPE 
0..N

0..N

OIJ_EL_TICKET_H

MANDT [CLNT (3)]

TICKET_KEY [CHAR (20)]

TICKET_VERSION [NUMC (3)]

TICKET_PURPOSE [CHAR (1)]

 OIJ_EL_TICKET_I-TICKET_KEY = OIJ_EL_TICKET_H-TICKET_KEY 
0..N

0..N
T000

MANDT [CLNT (3)]
 OIJ_EL_TICKET_I-MANDT = T000-MANDT 

0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 OIJ_EL_TICKET_I-LGORT_D = T001L-LGORT 

0..N

0..N

 OIJ_EL_TICKET_I-LGORT_O = T001L-LGORT 

0..N
0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIJ_EL_TICKET_I-WERKS_D = T001W-WERKS 

0..N

0..N

 OIJ_EL_TICKET_I-WERKS_O = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIJ_EL_TICKET_I-MEINS = T006-MSEHI 

0..N

0..N

 OIJ_EL_TICKET_I-MTTEH = T006-MSEHI 

0..N

0..N

 OIJ_EL_TICKET_I-TSTEH = T006-MSEHI 0..N
0..N

TOIGS

CLIENT [CLNT (3)]

SHTYP [CHAR (4)]

 OIJ_EL_TICKET_I-SHTYPE = TOIGS-SHTYP 

0..N

0..N

TOIJ_EL_MVSCEN

CLIENT [CLNT (3)]

MVSCENARIO [NUMC (2)]

 OIJ_EL_TICKET_I-MVSCENARIO = TOIJ_EL_MVSCEN-MVSCENARIO 

0..N

0..N

TOIJ_EL_SITYPES

CLIENT [CLNT (3)]

SITYP [CHAR (2)]

 OIJ_EL_TICKET_I-SITYP = TOIJ_EL_SITYPES-SITYP 

0..N

0..N

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 OIJ_EL_TICKET_I-VSTEL = TVST-VSTEL 

0..N

0..N


